Module 5 Review Sheet: Piecewise Functions Name ij\

N

#1-5 Identify the independent and dependent variables.

1) The cost, in dollars, to fill up my gas tank, in gallons, with unleaded fuel

Independent:%f OQ' 80.\\th Dependent:COS\' e 3

2) The height of a humans as a function of age

Independent: (\}\%Q,) Dependent: Y\Q,\Sh\'

3) The price of a ribeye steak at Harris Teeter

Independent: “Pk &M& Dependent: C,Dssr

4) The amount of money in a paycheck of an hourly employee at Harris Teeter

lndependent:'ﬁ' ()Q Nous Dependent: ﬂ

5) The price of a cheese pizza from Domino’s

Independent: 6\% Dependent: 005*"

6) Evaluate

x?=5 -9<x<—4
1

fG)= Sx% 7 —-4<x<8
=3 x=8

a) f(5)=9é. b) f(—7)=£_ c) f(12)="f3>
d) f(—15)=m00__§'\n<’-¢~ e) f(8)=_3L" f) f(4)=__._o\ '

#7 — 10 Sketch the graph of the following functions and answer the related questions,

7) —-x+1 -1<x<1
f(x)={ 2 = U‘:
x2 P g A

il O]
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Domain: r__"\}* OD—\ 4

10 B s
Range: % (O]}\' :> F,

) | |

Interval(s) of increasing: (\/ *:.Q\
Interval(s) of decreasing: E (‘._,\ \3




8)

9)

10)

f(x)={|x+ll x<0

2x x>0

Domain: L—'og)j A .,Q\

R

Range: t_ol 5 —O\

]
Interval(s) of increasing: (:' \;D\ V) (.O; % ab\ -
-\ :
Interval(s) of decreasing: 90:" \
(x+2)?-3  -5<x<0 ’
3 8
f) =4 —Zx+4 0<x<4
2 o £
[x—6]+5 x=4
\ 2

Domain: r‘: 5; X "O\

/
Y
4

Range: l '—2) FJ‘:’Z) l

Interval(s) of increasing: (‘- \-{ OB U L (0 ;‘n"O\
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3 x <=1
f(x):{lx—XZI |

oomain; (7=, % 5 )

rane: (20 =) © [0, 5-0)
araigorassng e 5 (2, 36
g i, 1 e e |




Solve each system of equations. Round to the nearest hundredth. Show work on your own paper.

11) 2x?+y? =18 12) x2+y*=4
xy =4 y—x?2=-9
13) x2-y2=21 14) x?2+y*=29
x+y=7 xy =10

Write a system of equations for each of the following situations. Then solve the system algebraically or
graphically. Do not just guess check!

15) The sum of two numbers is 8 and the sum of their squares is 34. Find the numbers.

System of Equations: x’\'U\ %/ X '\'U\ ';?)L" Solution: % *\"5
AeE X %3 tj =§-% K -\-(‘6-x\ t234 2% Jbx ¥30 =0
ys8-s 8-> Exa-1ox xx7=8U  2(x=8x S =0
B b= 2x51bx +6h =34 2 (x-5Xx-3 )=0
16) The sum of two numbers is 10 and the difference of t!:;-l‘r squares is 50. Find the numbers.

?. —
System of Equations: x \-5 = = @ Solution:_—\-s- i s
t:\ S 156 +20X S0 4 =015
(_\0 K) \ 20 % =S50 3 2
x (100 - 2.0><’r)k =SV x < 1.SH

~106 x20 x —x* =80

17) The product of two numbers is 24 and the sum of their squares is 73. Find the num

System of Equations: X\-ﬂ ’1Ll X '\' ':-13 Sd,
Xy =24 x ;,(?-—“L\ =13 x:«-s-:(, —:\3;{“-

A -
b—,};_. 2y SI6 57(0 A2 X 2 xxs16
Lx -4 YxE-

X920 x"~<

18) A rental car company charges a flat fee of $40 for the first 50 miles drive and an add|
each mile driven in excess of 50 miles.

Answer the following appropriately for each application.

a) Express the cost, C, as a function of the miles driven, m.
4o o4m

Yox 2S(x-5HP

b) Sketch and label the graph of C(m). CL"Y“”

c) Determine the cost of driving 200 miles.

™ >SS0
Hor.2S(200-So) =TSO
d) Determine how many miles one could drive for $100. 9 g |
Ly A2 2430 ¥ 5100
ASX-S0) =260
X-Sv = 240
2240 vwn\ed

o
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19) Beautiful Wedding charges $2.00 each for printing the first 40 invitations a

in excess of 40.

a) Express the cost, C, as a function of the number printed, n. o

{n £40
27(\ 0 l:\;} Sketch and label the graph of C{n).

s G n>4%0
&0 x 125 (‘n c) Determine the cost of printing 275 invitations.

50+ 125 sy 231318

d) How many invitations can be ordered for a cost of $300? L:

50 ¥ 125 (n-40) =300

125(n-40) =220
n-yo = 176 2l

Sketch the graph of each function and state the domain and range.

200 fO=+1 O

nd $1.25 each for each invitatj
Y

F S

Domain:

(23]

N

Range:

-

ok

N

OYY{ \)r

21) f(x) = [2x]
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W) x4y -\
Xy —=y 5
ixllc(‘;{?f"\g
2 le’r-)%?_“ g X
Ixteb = 180"

X195 162 0
2(x*'-axx§)=0
’2,()(7’- ) (=) =0

XEB:D X!z
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